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}�� cY`[pX[] zsx

}�� bYb[pX[\ zsx w���\ [Y\^ �s

w���] [Y_ �s

n��\�\ \Y^[pX[\ �q w���̂ [Y_c �s

n��\ \Y\[pX[] �q n���\ ]^Ybcd �q

w�� \Ya[pX[\ �s n���] \`Y\a] �q

}� aYa[pX[\ zsx w���\ [Y]b �s

}� \Y_[pX[] zsx w���] [Y__ �s

}� \Y][pX[\ zsx n��� `bYbd �q

w� ]Y[[pX[^ �s

C d s (vgs ,vds )  =  (d0+((d1* vgs+ d 2 * vgs^2 ) *exp (d3+d4* vds ) *1e -1 2
Cgs (vgs ,vds )= (b0+b1*tanh (b2* vds+b4* vgs )+b3* vgs ^2+b5* vgs ) *1e-12

Cdg (vgs ,vds )  = (y0+(y1* v gs +y2)*exp(y3+y4* vds ))*1e -12

Ids= β*(V g m + ln(2* cosh(V g m )))
* tanh(α*Vds i ) * (1+ λ* V d s )

V g m = A* (1 -1 / (Vgm1)^V g m e x p )-C
Vgm1 =  ε+0.5*( tanh((1+θ*(Vgs -VT)) )+1)

*abs(θ*(Vgs -VT))             
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�[ Xb_Y[a �[ ^̂ Ycb ¤[ [Yd[]c

�\ X\]Y\b �\ ddYd_ ¤\ bY_]]

�] X[Y]̂ �] X\]Ỳ c ¤] X\_Ybb_]

�̂ X]Y[̀ �̂ X\Y[c^ ¤^ X[Y_a^̂

�_ XbŶ [pX[] �_ X[Y\_ ¤_ X[Y]a

�̀ \̂Y]c



V T  =  V T 0 0 + + V T _ T *  ∆Tj +  VT1* Vds  ( 6 )
α = α0+ α_T*  ∆Tj  (  7 )
β = β 0+ β _T*  ∆Tj  (  8 )

∆Tj = R th * Pd iss+ (Ta -Ta0)                (  9 )
Pd iss = Ids * Vds  (10)
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-1 .9E-2β 00 .6752V gm e xp
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